## Quick Test - Rearranging formulae

1. Make s the subject of the formula $p=S$

2. Make $t$ the subject of the formula $p=s+t u$

$$
\div v \begin{aligned}
& -s \\
& p-s=f \nu \\
& \frac{p-s}{v}=t
\end{aligned}
$$

3. Make $s$ the subject of the formula $p=s^{2}+4 t u$
4. Make $t$ the subject of the formula $p^{2}=s^{2}+4 t u$

$$
\begin{aligned}
&-c^{2} \\
& p^{2}-s^{2}=4 t v \\
& \div 40 \div 40 \\
& \frac{p^{2}-s^{2}}{40}=t \quad t=\frac{p^{2}-s^{2}}{40}
\end{aligned}
$$

Quick Test - Rearranging formulae
5. Make t the subject of the formula $v=\frac{1}{6} t+6 w$
(2 marks)

$$
\begin{gathered}
-6 w \\
\times 6-6 w=\frac{1}{6}+6 w \\
6(r-6 w)=t
\end{gathered}
$$

6. Make $w$ the subject of the formula $v=0.2 t+5 w^{2}$
(2 marks)
$-0.2 f$

$$
\div 5 \begin{aligned}
r-0 \cdot 2 f & =5 \omega^{2} \\
\sqrt{\frac{r-0 \cdot 2 f}{r}} & =\omega
\end{aligned}
$$

$$
\div r
$$

7. Make a the subject of the formula $P=\not \perp r+2 r+2 a$
8. Make a the subject of the formula $3 a+b=x(a+c)$
(3 marks)

$$
\begin{aligned}
& 3 a+b=a x+c x \\
& -a k \quad-a x \\
& 3 a-a x+b=c x \\
& 3 a-a x=c x-b \\
& a(3-x)=c x
\end{aligned} \quad P a=\frac{c x-b}{3-x}
$$

Quick Test - Rearranging formulae
9. Make b the subject of the formula $b(3+d)=x(b+c)$
(2 marks)

$$
\begin{aligned}
& 3 b+b \theta=x+x c \\
& 31+b \theta-x b=x c \\
& b(3+\theta-x)=x c \\
& b=\frac{x c}{3+\theta-x}
\end{aligned}
$$

10. Make c the subject of the formula $b(3+c d)=x(b+\underline{c})$

$$
\begin{aligned}
3 b+b c Q & =b x+c x \\
b c d-c x & =5 x-3 b \\
c(b d-x) & =b x-3 b \\
c & =\frac{b x-3 b}{b d-x}
\end{aligned}
$$

11. Make y the subject of the formula $3(\underline{y}+2)=a(5-\underline{2} \underset{)}{ })$
(3 marks)

$$
\begin{gathered}
3 y+b=5 a-2 a y \\
3 y+2 a y=5 a-6 \\
y(3+2 a)=5 a-6 \\
y=\frac{\sqrt{a}-6}{3+2 a}
\end{gathered}
$$

12. Make p the subject of the formula $x>\frac{p+5}{p+6}$
(3 marks)

$$
\begin{aligned}
& x(p+6)=1(p+5) \\
& x p+6 x=p+5 \\
& x p-p=5-6 x \\
& p(x-1)=5-6 x
\end{aligned}
$$

Quick Test - Rearranging formulae
13. Make p the subject of the formula $\frac{x}{1}=\frac{p+5}{p-t}$

(3 marks)

$$
\begin{aligned}
& x(p-t)=p+5 \\
& p x-x t=p+5 \\
& p x-p=5+x t \\
& p(x-1)=5+x t
\end{aligned}
$$

14. Make x the subject of the formula $\frac{a}{c} \not \subset \frac{5 x}{x+6}$
(3 marks)

$$
\begin{aligned}
& a(x+6)=c(5 x) \\
& a x+6 a=5 c x \\
& a x-5 c x=-6 a \\
& x(a-5 c)=-6 a
\end{aligned}
$$

$$
\left\{\begin{aligned}
x & =\frac{-6 a}{a-5} \\
6 a & =5 a x-a x \\
6 a & =x(\sqrt{c}-a) \\
\frac{6 a}{5 a-a} & =x
\end{aligned}\right.
$$

15. Make $y$ the subject of the formula $\frac{a}{2 c} \times \frac{5 y}{y+6}$

$$
\begin{aligned}
a(y+b) & =2 c(\sqrt{y}) \\
a y+6 a & =10 c y \\
6 a & =10 c y-a y \\
6 a & =y(10 c-a)
\end{aligned} \quad \rightarrow \frac{b a}{10 c-a}=y
$$

16. Make $z$ the subject of the formula $\frac{a}{c}=\frac{4+5 y z}{3 y-3}$
(3 marks)

$$
\begin{aligned}
& a(3 y-3)=c(4+5 y z) \\
& 3 a y-3 a=4 c+5 c y z \\
& 3 a y-3 a-4 c=5 c y z
\end{aligned}
$$

Quick Test - Rearranging formulae

17. Make u the subject of the formula $\frac{1}{f}=\frac{1}{u}+\frac{1}{v}$
(3 marks)

$$
\frac{1}{f}=\frac{v}{v r}+\frac{v}{v v}\left[\begin{array} { l } 
{ v v = f ( r - v ) } \\
{ v v = f r - f v } \\
{ v v + f }
\end{array} \quad \left\{\begin{array}{l}
v=f v \\
v(v+f)=f r
\end{array}\right.\right.
$$

18. Make $h$ the subject of the formula $m=\sqrt{\frac{2 h+1}{3}}$
19. Express a in terms of b and $\mathrm{c} .5(2 a+b)=a+b+c$

$$
\begin{aligned}
& 10 a+5 b=a+b+c \\
& a a+5 b=b+c \\
& a a=b+c-5 b \\
& a=\frac{b+c-5 b}{a}
\end{aligned} \quad \rightarrow \quad a=\frac{c-4 b}{a}
$$

20. Make $y$ the subject of the formula $x=z-3 w y^{3}$

$$
\begin{aligned}
& 3 \omega y^{3}+x=2 \\
& 3 \omega y^{3}=2-x \\
& y^{3}=\frac{2-x}{3 \omega}
\end{aligned}
$$

